trig-2012-10-03.notebook October 03, 2012

Solve fpc )(_m

[ ‘]‘slhKCOSZK—3$iﬂX=O
SioX <4~cosa>< —3) = Q
SinX= 0O Fasx 3=
- \ oS =%
O, Cosx =4 &
:ﬂ‘\*@/@
= g
AN A,

2. (6&(\)( - (osx);_(( ) ( _
X

SIOX LSRR t ok = | | %=1 v
| —2sinxcasx = | X7—= l
~ASiAXcOSX =0 S (Aa\f'.n’(
sin . b 4042
INCCOS X = O ) (‘\«)b*a

iNX= X < \



trig-2012-10-03.notebook October 03, 2012

5)( - O,Tt; T 3w ) AT S ) (oTr _ﬁ"ﬂ') ‘%—“ﬁﬂ'

-0 T 2w 3 o




trig-2012-10-03.notebook October 03, 2012

L.t hordart~ Solve for xe (0,27 .
32. coslx =2cosx — |

e T gt

COS'X = coSX
cos®x - cosx =)
Cosx(coSx— '):O
Cosx=0 casx—(=()
=53 Cosx =

Xto

T4 . sindx-cosZx=)  sictx=0%
Sin2QN - cos2x = “W:
SSINIK0SIx — 00X = O
Cosdx (QS\' NOX — D =0

cos2Ax = Q5N x- Il =0
=T 3 -
23, A Shixs




trig-2012-10-03.notebook October 03, 2012

T8, (o2(0SX-SINXSINX = ()

cos(2x+ &> =)

2. cos3x+cosx =)
cos(@x+x)+cosx =)

COSAX COSX—SINNSINK +¢0SY = O
(ws'x ~sifR)casx~ (ZsieXcosx )i + casy =D

oS -SIT XX~ 2sif KOSK + (08X = )

Co-'f‘x -3si0 % casx +co8X =0
<os x=3(|-0s) cosx+ (05X = O
8" x ~3c08y T3A X +@sx=0)
4eos’x Reasx =Q)

Reosx (cos’x - |> =0




trig-2012-10-03.notebook October 03, 2012

BY . Qsinwos*-NZsiX~3cosx +{ =0
R A

ASinX (cosx -Q) ﬁ(cosx -ﬁ>= O
(cosx~§2) @sinx-3) =O

cosx-J2 O 25013 =0

Osx =z S, SinxU3
‘.‘0\3“0

None s T~ o
.—Ism&xsl @’j )Z'%

1_ -
To.  {an2 = |-cosx J""‘?—“'sx.%
~ = 3nY
\xf( Sin¥>_(‘_@s)5'fms’9k H‘:\:osx
|+ 08X | W‘f
SInX = (= coSX -0l
sinX = $IN°y b"(o7 J)J
(3 =Sin’x-$NX 21-$3 GJJ
O =$iInx (\?) "’l



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

